BPC Agenda 2021-0162 Attachment C Spec# 2020-15 Bid Tabulation

TABULATION OF BIDS

SPECIFICATION NO. 2020-15 TITLE: STRUCTRUAL PILE REPAIRS TO NAVY PIER, SAN DIEGO, CALIFORNIA BIDS OPENED: MARCH 1, 2022 at 2:00 P.M. ENGINEER'S CONSTRUCTION ESTIMATE: \$ 11,200,000.00

BID SCHEDULE (7 BIDDERS)

CONTRACTOR:				REYES CONSTRUCTION INC.		VORTEX MARINE CONSTRUCTION INC		R E STAITE ENGINEERING INC	
ADDRESS:				1383 SIGNAL DR		1 MARITIME WAY		2145 EAST BELT STREET	
				POMONA, CA 91766		ANTIOCH, CA 94509		SAN DIEGO, CA 92113	
GUARANTEE OF GOOD FAITH:				FIDELITY AND DEPOSIT		FIDELITY AND DEPOSIT		LIBERTY MUTUAL INSURANCE	
			COMPANY OF MARYLAND		COMPANY OF MARYLAND		COMPANY		
ITEM NO.	ITEM	UNIT OF MEASURE	ESTIMATED QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	GENERAL CONSTRUCTION	LS	1	\$290,000.00	\$290,000.00	\$320,000.00	\$320,000.00	\$386,000.00	\$386,000.00
2	MOBILIZATION AND DEMOBILIZATION	LS	1	\$290,000.00	\$290,000.00	\$535,000.00	\$535,000.00	\$644,000.00	\$644,000.00
3	LONGSHOREMAN INSURANCE	LS	1	\$136,700.00	\$136,700.00	\$25,000.00	\$25,000.00	\$452,430.00	\$452,430.00
4	CONSTRUCTION BEST MANAGEMENT PRACTICES (BMP) PLANS	LS	1	\$70,000.00	\$70,000.00	\$25,000.00	\$25,000.00	\$231,500.00	\$231,500.00
5	PIER MARK OUT, DIVE AND OTHER PRECONSTRUCTION SURVEYS	LS	1	\$135,000.00	\$135,000.00	\$140,000.00	\$140,000.00	\$273,800.00	\$273,800.00
6	FULL LENGTH PILE ENCASEMENT AT 257 PILES	LF	6300	\$1,045.00	\$6,583,500.00	\$1,141.00	\$7,188,300.00	\$1,218.00	\$7,673,400.00
7	RELOCATE AND REINSTALL ROCK AT PILE BASES (35 PILES)	CF	2800	\$65.00	\$182,000.00	\$105.00	\$294,000.00	\$11.00	\$30,800.00
8	REMOVE AND DISPOSE OF UTILITY PIPE DEBRIS	LF	300	\$255.00	\$76,500.00	\$75.00	\$22,500.00	\$56.00	\$16,800.00
9	CONCRETE DEMOLITION	CF	2200	\$306.00	\$673,200.00	\$430.00	\$946,000.00	\$480.00	\$1,056,000.00
10	CONCRETE REPAIRS	CF	2200	\$584.00	\$1,284,800.00	\$500.00	\$1,100,000.00	\$825.00	\$1,815,000.00
11	CRACK INJECTION	LF	500	\$131.00	\$65,500.00	\$320.00	\$160,000.00	\$153.00	\$76,500.00
12	STEEL REINFORCEMENT REPLACEMENT	LBS	2250	\$42.00	\$94,500.00	\$38.00	\$85,500.00	\$18.80	\$42,300.00
13	ALLOWANCE FOR RELATED WORK	AL	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
TOTAL BID:					\$10,081,700.00		\$11,041,300.00		\$12,898,530.00

SPECIFICATION NO. 2020-15 TITLE: STRUCTRUAL PILE REPAIRS TO NAVY PIER, SAN DIEGO, CALIFORNIA BIDS OPENED: MARCH 1, 2022 at 2:00 P.M. ENGINEER'S CONSTRUCTION ESTIMATE: \$ 11,200,000.00

BID SCHEDULE (7 BIDDERS)

CONTRACTOR:				SHIMMICK CONSTRUCTION CO. INC.		POWER ENGINEERING CONSTRUCTION COMPANY		THE DUTRA GROUP	
ADDRESS:				530 TECHONOLOGY DR STE 300 IRVINE, CA 92618		1501 VIKING STREET STE 200 ALAMEDA, CA 94501		2350 KERNER BLVD STE 200 SAN RAFAEL, CA 94903	
GUARANTEE OF GOOD FAITH:				BERKSHIRE HATHAWAY SPECIALITY INSURANCE CO.		LIBERTY MUTUAL INSURANCE COMPANY		LIBERTY MUTUAL INSURANCE COMPANY	
ITEM NO.	ITEM	UNIT OF MEASURE	ESTIMATED QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	GENERAL CONSTRUCTION	LS	1	\$390,000.00	\$390,000.00	\$1,293,000.00	\$1,293,000.00	\$51,500.00	\$51,500.00
2	MOBILIZATION AND DEMOBILIZATION	LS	1	\$650,000.00	\$650,000.00	\$121,000.00	\$121,000.00	\$550,000.00	\$550,000.00
3	LONGSHOREMAN INSURANCE	LS	1	\$55,000.00	\$55,000.00	\$22,000.00	\$22,000.00	\$1.00	\$1.00
4	CONSTRUCTION BEST MANAGEMENT PRACTICES (BMP) PLANS	LS	1	\$350,000.00	\$350,000.00	\$112,000.00	\$112,000.00	\$1,600.00	\$1,600.00
5	PIER MARK OUT, DIVE AND OTHER PRECONSTRUCTION SURVEYS	LS	1	\$500,000.00	\$500,000.00	\$88,000.00	\$88,000.00	\$200,000.00	\$200,000.00
6	FULL LENGTH PILE ENCASEMENT AT 257 PILES	LF	6300	\$1,355.00	\$8,536,500.00	\$1,518.00	\$9,563,400.00	\$1,500.00	\$9,450,000.00
7	RELOCATE AND REINSTALL ROCK AT PILE BASES (35 PILES)	CF	2800	\$60.00	\$168,000.00	\$126.00	\$352,800.00	\$100.00	\$280,000.00
8	REMOVE AND DISPOSE OF UTILITY PIPE DEBRIS	LF	300	\$80.00	\$24,000.00	\$42.00	\$12,600.00	\$645.00	\$193,500.00
9	CONCRETE DEMOLITION	CF	2200	\$295.00	\$649,000.00	\$847.00	\$1,863,400.00	\$1,380.00	\$3,036,000.00
10	CONCRETE REPAIRS	CF	2200	\$645.00	\$1,419,000.00	\$548.00	\$1,205,600.00	\$2,080.00	\$4,576,000.00
11	CRACK INJECTION	LF	500	\$170.00	\$85,000.00	\$150.00	\$75,000.00	\$210.00	\$105,000.00
12	STEEL REINFORCEMENT REPLACEMENT	LBS	2250	\$55.00	\$123,750.00	\$10.00	\$22,500.00	\$20.00	\$45,000.00
13	ALLOWANCE FOR RELATED WORK	AL	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
TOTAL BID:					\$13,150,250.00		\$14,931,300.00		\$18,688,601.00

SPECIFICATION NO. 2020-15 TITLE: STRUCTRUAL PILE REPAIRS TO NAVY PIER, SAN DIEGO, CALIFORNIA BIDS OPENED: MARCH 1, 2022 at 2:00 P.M. ENGINEER'S CONSTRUCTION ESTIMATE: \$ 11,200,000.00

BID SCHEDULE (7 BIDDERS)

CONTRACTOR: ADDRESS: GUARANTEE OF GOOD FAITH:	10108 RIVER LAKESIDE	ONSTRUCTION RFORD ROAD E, CA 92040	
	LAKESIDE	E, CA 92040	
GUARANTEE OF GOOD FAITH:	WESTERN SUF		
	WESTERN SURETY COMPANY		
ITEM ITEM ITEM UNIT OF ESTIMATED MEASURE QUANTITY	UNIT PRICE	TOTAL	
1 GENERAL CONSTRUCTION LS 1	\$599,000.00	\$599,000.00	
2 MOBILIZATION AND LS 1	\$999,000.00	\$999,000.00	
3 LONGSHOREMAN INSURANCE LS 1	\$1.00	\$1.00	
4 MANAGEMENT PRACTICES (BMP) LS 1 PLANS	\$248,000.00	\$248,000.00	
PIER MARK OUT, DIVE AND5OTHER PRECONSTRUCTIONLS1SURVEYS	\$790,000.00	\$790,000.00	
6FULL LENGTH PILE ENCASEMENT AT 257 PILESLF6300	\$2,338.00	\$14,729,400.00	
7 RELOCATE AND REINSTALL ROCK AT PILE BASES (35 PILES) CF 2800	\$91.00	\$254,800.00	
8 REMOVE AND DISPOSE OF UTILITY PIPE DEBRIS LF 300	\$180.00	\$54,000.00	
9 CONCRETE DEMOLITION CF 2200	\$340.00	\$748,000.00	
10 CONCRETE REPAIRS CF 2200	\$570.00	\$1,254,000.00	
11 CRACK INJECTION LF 500	\$121.00	\$60,500.00	
12STEEL REINFORCEMENT REPLACEMENTLBS2250	\$28.00	\$63,000.00	
13ALLOWANCE FOR RELATED WORKAL1	\$200,000.00	\$200,000.00	
TOTAL BID:		\$19,999,701.00	